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2023
COMMERCE
( Honours Elective )
Paper : COM-HE-6016
( Fundamentals of Investment)
Full Marks : 80
Timé : Three hours

The figures in the margin indicate
~ full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed :

1x10=10
Roma oo Pz Tt 34 3
(a) Write the full form of CARE.
CARE 9 5 =itot 14t |

Contd.



(b) Which of the following is an example of
financial derivative ?

wote  fRiERE (Pl [eln [aisrsives
Trfeel ?

(i) Share (Sig¥)

(i) Debenture (d59{d)

(iii) Forward contract (Sa%@] pie)

(iv) GDR (f&fCwim.)
(Choose the correct alternative)

(% [[Faes) 6 Seredr)

(¢) Who is the propounder of dividend
capitalisation model ?

ST TR TG SRS iy

() Myron J. Gordon (W& (&, 1)
(i) David Ricardo (e Rairsf)
(i) Adam Smith (S Fae)

(iv) John Stuart Mill (&= i i)
: ~ (Choose the correct alternative)

(w% fseor > Tfearn)

(d) On which date SEBI introduced
compulsory trading of shares of listed
companies in ‘DEMAT’ form ?
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‘GR @ @Il oive oo @R
AT (T TG Tl e FE ?

(i) . 1lst January, 2016

(i) 1st April, 2017

(iii) 1st January, 2018

(iv) 1st April, 2019 :
(Choose the correct alternative)

(w5 [eseo! 6 Ofrea)

(e Who is the regulatory authority of
Indian securities market ?

TSI O G FERRIS] AT (i ?
() NAV is a fund per share market value.

NAV ¥ I&i9 360 dfo « ot ofe |
: (The statement is True/False)

(Cfechr u%/5u%)

(g) “Securities market is a market for
equity, debts and derivatives.”

“2lf oo TG 2 ANHAG, Yo S Lo

st TSl 1
(The statement is True/False)

(Bfech) o5/ 9%%)
(h) Bond is a risk-free security. .

Qg Gy [om SRR dfegfe |
(The statement is True/False)
(Cfecs! wa/59%)
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() SBI mutual fund is the first public
sector mutual fund in India. ]

b.RoR ToRem A& T ooy w4
G QST SeaRo e |

: (The statement is True/False)

| &%/ qEeg)

() Investment in equity is safer than
bank fixed deposit.

TN [ @ R et @
e |

(The statement is True/ False)
(Sfeth e/ oog)

2. Answer questions of the following in about
50 words each : . 2x5=10

Ooi IS SO A o Bf AN *orw wgs Teg
349 2
(@) Give the meaning of equity share.

33251 S%T 9 | |

(b) State any two risks associated with
bonds. -
99 OIS Give R 750 Rom sy
TreR 34 |

(¢) Explain any two types of financial -
derivatives.
Rz 72 2o RS 5 1l iy |
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(d) Write two functions of SEBI.
(6= 757 I o7l |

(e) Explain any two assumptions of
technical analysis.

SIfPal ReERT 767 GiFelt Pyt 51 |

3. Answer any foitr queétions of the following
in about 150 words each : 5x4=20

o4 Rl BIf95) eE AterRe Al S¢o B Wi
*jarq fooge Teg & ¢

(a) Explain the structure of Indian
securities market.

oRSR efeefs IGTT Mo e <= |
(b) Write a note on price earning ratio.
P.E. Seiieq @oFe 4t (Gl foidl |

(c) Describe the factors affecting the
choice of mutual fund.

Terzem e b eeiiie e
G NS ] |

(d) What do you mean by fundamental
analysis ? What are its objectives ?

Ghfere [esEd I & q@i 2 28 SomiEs
I 4 |
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(e) Write any five functions of stock

exchange. |
GEill

(f) State any five features of bond.

A9 R 2ies1s! (RS Sram w5 |

4. Answer any four questions of the following
in about 600 words each : 10x4=40

wﬁmmrwﬁ?fmm\a A oo B Wi
“[4q fooge Ueq o4 ¢ :

(@) Explain briefly about different types of
: investment stating their advantages
and disadvantages.

e e SHRAPTE TEe 7R Ry e
RGeS T vt i <41 |

(b) Do you think that credit rating is-an
important service for the investor ?
Justify your answer.
e " @ @ @l «hl

e CRl I O Reasal S92 coria
e WS @ SisRpE |
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(c) What do you mean by mutual fund ?
Discuss the different types of mutual

fund. 2+8=10
Tomerl Hfe I & @ /o eww
Tome N AR SiteTval 4 |

(d) Discuss the role played by SEBI in the
protection of interest of the investors
in Indian securities market.

sigor dfoefed qGe RGNS 7T
1 7afiFe FRACT SEBI (¥ o =1 Bl
N (GRS

() What are the basic features of
financial derivatives ? Also state briefly
about the major participants in
financial derivative market. S5+5=10

e feafzrebes 1@ RRFER & T2 [Re
fCaizrelte ITRT @ SRIGTF|] AFTEe
RE v il =4 |

(f/  What is efficient market hybothesis ?
Discuss about the different forms' of
efficient market hypothesis.

G IS 4= [F2 I TG A=A
fafon elenes KA vl < |
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(99 What do you mean by bond ? Mr. X
purchased a 10% coupon rate bond.
The bond have a face value of
Rs.10,000 and maturity of 4 years. If
the current market interest rate is 8%, .
find the value of the bond using
present value method.

If the current market price of the bond
is Rs.9,000; state whether X should
sell it or hold it till its maturity, along
with the reason.

(Present value of Re.1 at 8% discount
rate is as follows :

1 year — 0.926, 2 years — 0.857,

3 years ~ 0.794, 4 years — 0.735)
figR X 9 10% T W ¢ T I@| @@
%3 R I 10,000 0t W= sy 4 I |
ﬂﬁa@msﬁ—ma@m%,wﬁmw%&
IIZT IR 97 o Feffaer w41

I 997 vlere G T 9,000 5 =W, X @
¢ RE =W Ve =m g o

B! Tve 79| ;
(8% 3T I 1 T<vix IS 367 weTs fomy
Qe 3

13 9= — 0.926, 2% I=§ — 0.857,
37 I — 0.794, 44 I|W — 0.735)
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